TEST X|ZS At

el
ol
o
>

S1712) WYL L IZhES XHAEM L.
1. X|ZksA1e] ofsff »
NASAHE [ Jg4eR,
- FO + SA + FHO| + |
- S8 20| X2|0f= | o|Lt
SIX [ 1/WAEAE 2L

= 2 T 8ok

!

2. X148
BN E0 L7 AS FTTH0|A 0|0kt
(M) 2Lk s 1 wl__]

) =Cth__]

3) =7k L ]

SAtel 58 2

SALE,

=74 3¢ Hoky
see-[ ][] EC}
hear-[ 1-[

feel-[ ][ ] =7t

] ECF

n

3. X[Z+SAte] 2of HEY 3

(1) SHojet 2ofo] 2AZF [ 1€ I —
SAHEYO[LE SR Z AL

2) SHoet 20jo] A7 3 W —» [ A

4. W80 =X RIZIES MAEM L. 4

She saw him playing the cello.
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She heard her name called.
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